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1. Determine the force in each member of the truss as shown in Fig. 1. 25%
2. Plot the shear and bending-moment diagrams for the beam shown in Fig. 2 20%

3. Atwo-element shaft AC (G = 80 GPa) is subjected to external torques at sections B and C as
shown in Fig. 3. The outer diameter of the shaft isd,= 60 mm. The inner diameter of element 2,
d,,= 50 mm. Determine: (a) the maximum shear stresses in sections AB and BC,

(b) angle of twist at the end C. 25%

4. A tee-beam has the cross-sectional dimensions (Fig. 4) is used as a cantilever beam to support
loads as shown in Fig. 2. Determine: 30%
(a) the neutral axis of the cross section,

(b) the maximum tensile and compressive flexural stresses at the cross section,

(c) the maximum and minimum shear stresses in the web of the cross section.
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Fig. 4




